LTS

B % B

A I:l EH 15 F 11 HBEEBER#A

FEREXSBRAO-HEAZSEAO

Xl B & A0 Et g i@ # H (X B H A E g = # ® X f £ A OE = @ W
g . sy M14,897 | 55,465 | 59,432 44,153 ¥ =T B B3O 420 470 366 |49 1 X Bt 8,870 4,358 4,512 3,361
; - _ . 7 ® = T H 694 217 377 293 GiRAEI~-TA]| 2,615 1,140 1,275 981
1 E & 1,529 718 811 663 & T H 751 333 418 3lg X GIRET—ZTA| 3,656 1,837 1,819 1,395
1| &8 —T8H 391 190 201 185 T 5 T H 301 439 462 350 poREr=TA| 2,799 1,381 1,618 985
I =-TH 663 209 234 176 |XK|® ~ T H 541 258 283 226 3 E B 9,855 4,751 5,104 3,769
X FEH=TH 499 227 272 226 # + T H 657 328 329 279 |13 EREIMTE | 2,132 1,011 1,121 759
L V- § 194 92 104 76 8 K & 6,748 3,147 3,601 2,747 LREAETE 2,398 1,192 1,206 877
5 2 K Bt 1,035 413 622 520 |gi® G A 395 173 222 165 LREATE| 2,809 1,331 1,478 1,161
FHETH 334 155 179 141 =HEH-TH 451 208 243 203 || EREETE 595 294 301 211
X FH ET S 355 98 257 231 ENMA-T A 634 288 366 267 LREE-/&2] 1,921 8923 9938 761
=B AT B 346 160 186 148 RE—T 5| 1,608 746 862 6lg 14 E 3 5,656 2,221 2,235 1,599
3 E & 3,467 1,607 1,860 1,446 BAEZ T 8 814 384 430 329 (14| m@E—TE | 2,262 1,163 1,099 B39
3 CEL 141 63 78 66 g =748]| 1,383 665 718 576 MER_-TE 680 343 337 212
A~ T B 664 318 346 295 gEE—-—T8 122 55 67 66 EER=TE 662 214 228 141
BEH ZTH 749 339 5410 597 B Bem=TE 251 113 138 108 |X| HEEWETE 933 537 496 357
BEHE=THE| 1,094 474 620 437 x % M| 1,090 515 575 461 HEENETH 139 64 75 50
I 215 107 108 96 9 E & 3,232 1,504 1,728 1,617 15 E § 119,936 9,684 |10,252 7,201
K ¥R H 97 47 50 36 9 k&  H 472 184 288 220 |15/ @=zm=TE! 8,114 3,922 4,192 2,917
¥ F m 217 119 98 108 R OET 6520 244 276 220 HEM=TH| 4,663 2,261 2,622 1,677
L 250 140 150 111 =EXE—TE 612 288 324 262 |X|HEmmMTE 490 268 242 174
4 E & 4,166 1,962 2,204 1,624 BEFEHM-TH 732 364 z88 330 WEGATH | 6,669 3,273 3,396 2,633
4| ®E_—TH B74 391 483 353 X =ZAR=TE G67 233 234 203 18 & & (10,605 5,177 5,428 3,672
FE=-TBH 627 307 320 247 SEEmTE 623 209 214 ig0 |16 lmE&—-TH | 1,281 631 650 623
FE=TH 943 464 499 368 B 6 2 4 2 NwE=TE | 2,612 1,279 1,333 927
=ZHE—-TH 314 147 167 110 10 E 3 4,393 2,269 2,124 2,024 IARE=TH | 2,462 1,205 1,257 814
=EHZTH 477 219 258 204 |(g EAKAI—TH 393 197 196 17 IR NABWTH B10 398 612 297
B w w 494 235 259 174 HAKA-THE 515 273 242 228 NREETE | 3,440 1,664 1,776 1,211
E T om 437 219 218 168 HAKSAI=TE 230 114 116 105 17 E & [10,187 5,072 5,115 3,759
5 5 E Bt 2,135 1,003 1,132 898 BAEH—-THE 457 243 214 219 |{7/|# B —T 8| 2,665 1,222 1,343 300
EMET—TE | 1,185 565 620 493 BAFA-TE 95 63 52 36 FH_TH| 2,926 1,453 1,473 990
B EWME-TE 950 438 512 405 EWME—TH 206 103 103 93 M =78 1,765 889 876 693
6 E 3 3,084 1,377 1,707 1,358 X®HA_TE 698 349 349 317 IRl gEamT E]| 1,604 833 771 654
6 wE—THB| 1,009 447 562 665 |2 ZHE=TH 1,401 735 666 675 #mAE TR 1,327 675 652 522
B - T H 852 353 499 408 ¥ £ @ 398 212 186 177 g 18 E & 5,733 2,782 2,951 2,211
HE=TH| 1,059 499 560 635 N E & [10,038 4,873 5,165 3,576 K #HEA—TE | 4,956 2,606 2,550 1,899
TG 20 10 10 9 1 BHE-—-TH 759 279 380 277 HWEMZTHE 7771 376 401 312
E B] 24 11 13 10 #HH-_TH]| 1,398 686 712 509
X 3 ] 20 10 10 10 HSHOM=TH 976 460 516 359 E1) O HERCTHERBEEBRICHBEZATVE,
| 3 1 2 2 HEHmTA | 1,200 572 628 46164 . a0 1E 7. . sy .
1@ - 57 e =5 T = mewETE | 1.124 FET 589 37¢ D) 1-3-10-12-15-17- BEOEE2 N £ 50 EXFSH D
7l 7 K & 5,428 2,547 2,881 2,308 BENATE | 2,162 1,015 1,147 741 o, EBORMADCEEYN S5,
X &= — 17 B 994 652 562 480 BEmMLTE | 2,419 1,226 1,193 900

18

&

izl




